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The admission of the litigant, etc. — 9912 17 Bya NIRRT

OVERVIEW

The Xn>72 rules where the grantor claims that he delivered a “vw (for a field [or to
free an 72v]) and the alleged recipient claims that he did not receive anything, that
the admission of the recipient is acceptable as the testimony of hundred witnesses,
and the grantor can retain title if he so pleases. The issue Md0IN explains is why we
do not say that the admission of the grantor should be accepted that he indeed did
grant the 70 to the recipient and the transfer took place.
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Regarding the grantor we do not say this (that *»7 o7y 7813 7"va nx1in),' for
occasionally the grantor assumed that the recipient accepted the 70w and made
an acquisition (of the field, or himself by an 72v), but in truth the recipient did

not accept it;* only the recipient knows for sure if he agrees to this transfer. Therefore only his
admission is acceptable but not the grantor’s.

Moo responds to an anticipated question:’
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And regarding this which the X723 queries; ‘who eats the fruits’, it is (not really
a query, but rather it is) merely an explanation of the Xn» 2, as the X7n3
concludes, ‘and they do not argue’.

SUMMARY
The 7"va nx717 of the 2pn is accepted; not of the 1.

' See ‘Overview’.
* See 1"mn (that he may have sent it to him through a %@ and he never received it) or that since the 101 initially had
to think that he was going to give it, therefore he mistakenly assumes that he gave it (see 7"nX # 39). However,
seemingly mooin should have written 1792 "22pw" 120, not 22pnw.
3 moon just concluded that we accept the 7"va nXT17 of the recipient (not of the grantor), why does the X33 ask who
eats the fruit; obviously it is the yn1! If 7"v2 n&77 could apply equally to the 1M1 and the 92pn, then the query of »
M 99X is understood; do we accept the X717 of the 1M1 or the %3pn (and X70m 271 727 would be arguing as to
whose X717 is accepted), however according to N0 there is no query. See ‘Thinking it over’.
* The X3 is merely explaining the rule of the Xn>™ 2 that *»7 07y AXn2 7'va nX7, that it depends who was 77m; if
the recipient was 771 then the 01 receives the m17%0, however if it was his heir that was 771, then 12wown. See
TR R"WwAnn for alternate explanations.
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THINKING IT OVER
Why indeed did nm»oin not want to explain the query of Mm% 95X °n, that it
depends whether we accept the X717 of the 1011 or of the 72pn?!
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